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NEPTUN-k6d zh | k | zh jk | zh  jk | zh jk | zh  jk | zh jk | znh  jk | zh  jk | zh K
1.|EB3JJ6 atiag 13 17 | 12 16 | 19 55| 27 17 | 24 20 | 17 15| 22 13 | 10 20 | 25 20 |312,5| -60| 0 | 252,5 | 56,1% | 2 (elégséges)
mérés 10 11
pétmérés 28 0
1. |WD0BJP 21 17 | 25 16 | 28 11| 28 17 | 30 20 | 19 15| 28 13 | 24 20 | 30 20 | 382 | -10| 0 | 372 | 82,7% 4 (j6)
2. [RINPVQ 1 18| 23 19| 30 17| 12 18 | 30 14 | 30 12 | 30 12| 25 18 | 30 19| 368 | 0 | 0 | 368 | 81,8% )
2.|08DYDC 13 18| 25 19| 30 17| 26 18| 29 14 | 23 12| 26 12 | 25 18 | 30 19| 374 | 0 | 0 | 374 | 83,1% 4 (jo)
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NEPTUN-kod Zh  jk [ zh Jk | zh | jk | zh Jk | zh jk | zh | jk [ zh jk | zn  jk | zh K
1_[TTLAZK 28 20 |24 18| 28 18 | 30 20| 30 19| 29 18| 29 20 | 28 20 | 30 20 | 429 | 0 | 0 | 429 |953%| 5 (jeles)
1. [BBN3FS 20 20 | 27 18| 27 18| 27 20| 28 19| 27 18| 28 20 | 30 20 | 28 20 | 415 | 0 | 0 | 415 |92,2%| 5 (jeles)
2. |C891WU 24 18| 20 15| 28 20| 12 13| 25 17| 10 17 | 28 18| 26 16 | 22 18| 347 | 0 | 0 | 347 |771%| 4(jo)
2. [RMQOUQ 1418 | 17 15|26 20| 17 13|25 18| 23 17 | 28 18| 26 16| 20 18] 349 | 0 | 0 | 349 |77,6%| 4 (jo)
3.|QQFOT5 20 17 | 24 15| 17 20 | 27 18| 26 17 | 10 17 | 10 20| 23 16| 17 17 | 331 | 0 | 0 | 331 | 73,6% |3 (kozepes)
3. |RFUR79 24 17 |19 15| 26 20 | 1518 | 24 17 | 19 17 | 25 20 | 15616 | 21 17 | 345 | 0 | 0 | 345 |76,7%| 4 (jo)
3. |QFSE02 10 17 | 19 15|28 20| 19 18 |27 17 |15 17 | 28 20| 21 16| 28 17 352 | 0 | O | 352 | 78,2%| 4 (jo)
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NEPTUN-k6d Zh Kk | zh Jk | zh jk | zh jk | zh jk | zh Jk | zh  jk | zh jk | zh K
. [IXWA4E atlag 24 19122 17130 11|26 18|30 10|21 13|27 19|26 19|30 20| 381 |-10| O 371 | 82,4% 4 (jo)
mérés 18 8
pétmérés 23 17
. |AC1JOP atlag 30 19126 17|30 11|27 18|30 10|29 13|29 19|23 19|29 20 (3985(-10( O | 388,55 | 86,3% 4(jo)
mérés 8
pétmérés 17
2. |GF030X 24 19122 18|25 20|27 17130 11130 1829 20|19 19129 19| 396 0 0 396 | 88,0% | 5 (jeles)
2. |BOG5CE 17 19121 18130 2029 17|25 11129 1830 20|21 19] 30 19| 393 0 0 393 |87,3% | 5(jeles)
3. |Y8P3AR 12 18|10 18|29 16|27 20|30 16|21 17|23 15|27 16| 30 16 | 361 0 0 361 | 80,2% 4 (j6)
3. INSNGEA 20 18|20 18|30 16|19 20|30 16|15 17|27 15|27 16 ] 30 16 | 370 0 0 370 | 82,2% 4 (j6)
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NEPTUN-kod Zh  jk [ zh Jk | zh | jk | zh Jk | zh jk | zh | jk [ zh jk | zn  jk | zh K
1.[CW1TIZ 27 19126 19|26 16|30 16|28 18|27 17|28 19|29 19|29 20| 413 0 0 413 | 91,8% 5 (jeles)
1.[HITSOD 18 19124 19|28 1629 16|29 18|20 17|27 19|30 19|29 20| 397 0 0 397 | 88,2% 5 (jeles)
2.|[RCW2MK 27 18129 17125 15|25 18|24 20|19 16|25 19|25 19|28 19| 388 0 | 45 433 | 96,2% 5 (jeles)
2.|ENB8KP 26 18 (27 17|26 15|26 18 | 25 20|19 16|27 19|28 19| 28 19| 393 0 0 393 | 87,3% 5 (jeles)
3.[FW4ITK 17 15124 15|26 13|26 17|26 17|28 12|25 18|23 18| 26 18| 364 0 0 364 | 80,9% 4 (j6)
3.|FIYBEZ 23 15|24 15126 13|15 10| 25 17129 12|23 18| 25 18| 27 18 | 353 0 0 353 | 78,4% 4 (j6)
4.[OJ3NHW 30 15124 12|27 15|26 20|26 16|30 15|27 18|30 19|28 16| 394 0 0 394 | 87,6% 5 (jeles)
4. [HKLQ4H 10 15|22 12|29 15|20 20|27 16|29 15|26 18|25 19| 27 16 | 361 0 0 361 | 80,2% 4 (j6)
5.|S3Y2IF 16 16|22 16|27 19|29 19|26 20|30 16|27 18|29 18| 26 19| 393 0 0 393 | 87,3% 5 (jeles)
5.IN3MZ3I 24 16|23 16|28 19|25 19|26 20|16 16|24 18| 30 18] 26 19| 383 0 0 383 | 85,1% 4 (j6)
6.|FR3BBA atlag 18 13122 12|25 12|21 18|26 19|18 12|25 20|25 20| 27 19 (3515|-10| O | 3415 | 75,9% 4 (jo)
mérés 14 10
poétmérés | 22 15
.|FXHHBW atlag 11 10119 12|23 12|10 18|22 19|10 12|22 20|16 20| 24 19 298,5|-40| O | 258,5|57,4% | 2 (elégséges)
mérés 3 10
pétmérés | 18 10
.[YOQ1RI atlag 9 9 17 14121 18|17 10|22 19|11 14|22 18|16 19|25 18] 299 |-10| O 289 | 642% | 3 (kdzepes)
mérés 3 13
pémérés 7 0
pétmérés | 17 14
.|WBIOFB atlag 15 13|27 14126 18|28 20|26 19|17 14|27 18|25 19|29 18| 373 |-10| O 363 | 80,7% 4 (j6)
FT7TWJ1 atlag 24 13122 14127 18|24 10|22 19|24 14|24 18|28 19|25 18| 363 |-10]| 45 398 | 88,4% 5 (jeles)
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